MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 1)

Mo Name:
Time: Score: A
H 0 x 10 = 16) (0.005 x 0.01 =
2 —0.007 x 10 = 11 —0.0006 x (—0.0083) =
5 8 x 10 = 1 0.2 x (=0.59) =
) 1x5= 19 0.0004 x (=1.7) =
5 —0.8 % (—8) = 200 —0.0004 x 0.1 =
6 —0.6 X (=3) = 2 —6e — 05 x 10 =
7 —0.7x 0= 22 (0.0008 x 10 =
9 1x1= 25 —0.0001 x 10 =
9 —6 X 3 = 24) x4 =
0 —1x0= %) 3x 4=
16 x (—0.03) = 0 =1 x (=6) =
12 —1 x (=0.08) = 2 —0.1 X 0.3 =
13 0.001 x 0.6 = % —=7x0.9=
- —0.005 x (—=0.4) = 2) 0.1 x (1) =
15 0.01 x (—=0.005) = 0 4x0=

Mathematics: Multiplication - Level 7 - Horizontal - Set 1

23


https://www.workulum.com

